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Bookiet A (56 marks)

For each guastion from 1 to 28, four oplions are given. One of them ks the correct answer,
Mﬁayawdmtne{i 2,30&*4}.Shadeffmmcfw$ﬁ.2.3or4}mﬂnOpﬁeaIWShaat

1. Which ona of the following is pot & living thing?
)

(4}

2. A srall hides itkself in Its shell when totiched.

This shows that the snall is a living thing because it can

{1} oow
(2) move
{3) respond
{4) reproduce
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3.  Theiable below shows how some living thinge can be grouped.

Which one of the following is the most suitable heading for group X7

{1) Bbirds
{2) Ingects
{8) animals

{#) mammals
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4, The diagram shows 2 palr of solesore.

Matal is used to muke the blades of the scissors baceuse mistal

(1) iz strony

(2) ls not waterproof

(3) bends easlly without breaking

(3) allvws some light to pass through

5.  The diagram shows the life cycle of 4 plant.

What ls the stage nrarked X7

(%) egg
{2} sead
(3) adult plant
(4 young pland

Page 3 of 19
2020 P4 8C SA

www.testpapersfree.com




BP-744

8.  Which animal has a pupa as a slage in it life cycle?

{1) frog
{2) beslls
{3} chicken
{4) cockroach

7. Which one of the following properties Is true for both alr and a marbie?

{1} They can be seen.

(2} They occupy space.
{3} They have definite shapes.
(4) They have definlie volumes.

8.~ Which ons of the following is a source of light?

The moon

()

(3) 4)
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8.  Which organ sysiem is shown in the diagram?

(1) skeletal gysiem

(2) digestive system
(3} musculer systam
{(4) clrculatory system

10.  Which one of the following is the bast conducior of heat?

(1) Aglassrod
{2y Ametalrod
(3) A plastic rod
(4) A wooden rod

Page 5 of 19
2020 P4 SC SA

www.testpapersfree.com




1. The table shows Tanya's answers to three qUastions about matter.

Can it exist as a aolid, a liguid or a gas?

Question Answror
A | Does it have mass? Yes
B | Does It ocoupy space? No
c

Yeos

Which of the questions weare answered corecty?
{1)Aand B only

{2)B and C only

(3)Aand C only

(A Band C

12, Mré Dili hung het clothes out fo dry in her backyard on a sunny day.

What is tha main source of heat that dries the clodhes?

(1) Air
(2} Sun
{3) Bird
{4} Planis

2020 P4 5C BA
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13,  Kenh made a model lighthouss using a cardboard tube, a papsr cup, a it light
bulb, some wires and & batlery.

bosne - ¢ePibOBI tUb

Ken wanted to make his model lighthouse shine more brightly.

Which one of the following should Ken use to replace the paper cup with?
(1) steel cup

{2) ceramic cup

{3) styrofoanm cup

{4) clear plastic cup

14, Which of the folfowing are not characteristics of insects?

A 3body parls

B 3 pairs of legs

C give birth to yourg allve
0 outer covering of faathers

(1) AendBonly
(2) Band Conly

{3} CeandDonly
{4} A, BandDonly

Page 7 of 19
2020 P4 SC SA

www.testpapersfree.com




BP-748

15.  Travis placed four similar cubss made of different materisls, P, Q, Rand 8, ina—
sontainer of water, The dlagram shows his observation,

pommee toNERINGT Of Water

decorative pebbles

He wanted 1o make soms decorative pebbles o put in his fish bowd.
Which material, P, Q, Ror 8, would be the best for Travis 1o use?

ne
(23Q
(R
s
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16.  Whish of the following shows tha comrect stages in the ife cydle of a flowering

{1} )

m P aduit adult/ < \ flower

plant plant plant '
(3) {4}

sead /ees
adult 1) adult . YOUuNYy
. plant y:;n? plant phasst
( )
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17. The diagram shows the human digestive system.

Which of the following correctly identifies the parts of the digestive system where

digestion staris and absorplion of water from undigesied food?

Digestion starts here de
) R P
{2) R Q
3) 8 P
@ | s Q
Poge 10.of 19
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18.  Study the chart below,

Which one of the following Is correot?
Guestion A B
{1) | Does it hold the plant upright? fruit
{2) | Does it grow Into a flowering plant? gpore
{3) | Doss it grow into & nonflowering plant? loaf
{4} | Does It grow into 2 non-flowering plant? spore

Page 11 of 1§

2020 P4 SC SA

www.testpapersfree.com

BP-~751




BP-~752

19.  James pleced an emply glass and a small ball into a basin of water as shown in
the diagram below. When the glass touched ths boltom of the hasin, he
wmmmwmaﬁmmmmmmmm

Mowever, the ball still fioated on the water as shown below. *

Ay A — T A

e - - IR
I AT fmbusin of water
el o =

Which of the following explains ihe difference in the water leve! inside and

ouleide the glass?

{1) The ball in the glass ts Rght.

{2) The air in the glass accupled apace.

(3) The ball pushed the water out from the glass.
{4) The air in the glass has a greater mass than the water,

20. Darlus hed 5 float as shown in the dlagram below. When he blew more air into
the float, he observad that the sire of the finat remained the same.

Which one of the following best explalng his observation?
{1} Air has mass.

(2) Alr takes up space.

{3) Air can be compressed.

{4) Ak hes a definite shape.
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21. Lucas placed two plates in an air-conditioned room of 23°C and wenit off fo play. —
Both plstes were of similar size but made of different materials.

Plate A Flats B

When Lucas retumed and touched the plates, plate A felt colder fo the touch
than plste B,

Which one of he following is most likely the reason why Lucas felt that plate A
was colder than plate B?

(1) Plate A fost more heat to Lucas’ hand than plate B.

(2) Plate A lost more heat to the surroundings than plate B.

(3) Plats A gained more haat from Lucas’ hand than plate B.

(4) Plate A gained mora heat from the suroundings than plats B. - ( }

22. Jane set up an experiment as shown below. She placed foe cubes of similar size
into Wentical beakers, W, X, Y and Z.

Beakers W, X and Y contained different amounts of water measuring 75°C.

Based on the set-up, which ica cube in the beakers above would take the longest
time to melt completely?

(1) Beaker W
(2) Baaker X
(3} Beaker Y
(4) Beaker Z
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23. ‘Wally observed that most of the water plpes at home are made of copper, & type of melal,
These pipes transpm«mbi water to the tabs in the houss.

He suggested to his dad that the water pipes be coated with material X, a poor conductor of
heat.
The diagram shows which part of the water pipe will be coatad with material X.

ouler surface coated with matorial X

{ [ o weter

Part of the water pips

Which of the following statements coirectly describe what will happen when the pipes are
coated with material X?

A The surrounding air wilt lose heat quickly to the cold water.
B The cold water will gain heat slowly from the surrounding alr.
C  The water pipes will not gain heat from the surrounding air quickly.

{1} AandBonly
(2} Band Conly
{3} Aand Conly
{4) A/BandC
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24, Zare created a foy using a wooden {ube, a torch light fixed at one end and an
Image at te other end of the fube. He made a hole st the centre of the wooden
tube to look at the image.

Zane's mi

hole
magef e T J-toret ight

|
wooden tube

When he switched on the torch light, he could not ges the image.

Which of the following could be the reason why Zane could not gee the image?
{1} Lightis a form of energy.
(2} Thers was no source of fight in the tube,

(3} The wooden fubs does not allow any light fo pass through,
{4) Ught reflacted off the Imege was not reflacted into Zane's eye.
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25. Karen creaied a sheep puppet using some pﬁ@m of cardbosrd and sluminium
foll, as shown In diagram 1.

curdbowrd

Diagram 1 Diagram 2

She then drew in the face and oars of the sheep using a marker, as shown in
~ diagram 2.

The diagram below shows Karen's set-up of the sheep puppst.

sgreen
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Question 26 continaed

ﬁgn%ﬁn%ﬁahﬂmmw,mmam&mmm
> wa|

Which one of the following Ia the shadow that Keren saw on the wall? .
() | @

(3)

Page 17 of 10
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26. Gabriel studiad two animals, P and Q. At the end-of his study, he recorded his
abservations as sioun in the teble below,

Animals
Observation -

P Q
has 6 lags No Yes
reproduce by laying engs Yés You
the young fives in the water No Yes

Which ona of the following comectly represents animels, P and Q7

Anirmals
- —
{1} mosguity chickm.
(2) mosquito buttarfly
(3) chicken . mosquito
@ | butterty mosquite

27.  Abar magnet was placed near a plastic plats of stes] pins. It was observed that

none of the pins were atiracted to the bar magnet.

sioe] pins

\ :SDIE {oon s s ltlaalt }:——Dlﬂsﬂem

bar magnet

Which one of ti'lefuMng is & possible reason for the observation?

(1
@
(%)
4

Thie bar magret repolied the stesl pins.
The pins wire sitracted to the plastic piate.

The magnet was too weak 10 aitract any ping,
The pins were not made of 8 magnetic material,

Page 18 of 10
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28, A sisel bar AB was magnetised using the stroking method as shown in Diagram 1.
Diagram 2 shows the magnetic poles of AB safter it was magnetized.

magret

oy e

Dlagram 1 Dlagram 2

Steel bar CD was magnetissd as shown it Diagram 3.

W us am wa

Diagram 3

Which of the following diagrams (P, © or R} do pot show a possible arrangement
of the two bars, AB and CD, after thoy were magnetised?

A A Bl
i _
sl [A B[¢ )
i D D]
P Q R
(1} P and Qonly

{2) PandRonly
(3y CQandRonly
{4y P,QandR

End of Booklet A
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Booklet B (44 marke)

For questions 28 to41, wiile your answers In this bookist.

The number of marks avallable is shown in brackeis [ ] at the end of sach question or part
quastion,

29. The diagram shows the stages in the fife cycle of a grasshopper.

a) Name stage P. [l
by  Name one ¢ther animal that has a similar life cytle as a grasshopper. [1}
Page 10f 17
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30. Allce placed two ring magrels, A and B, through a holder as shown below,

magnet A
magnet B
a)} The holder was made of plastic and was not atiracted to the magnets. 1]
Piaslicis a matsrial.
b) Why was magnet A floating above magnet B? (11
Magnet B was magnet A, '

Alice stroked two similar iron rods X and Y with the same magnet as shown below.

10 strokes 30 slrokes

, _

Rod X RodY

Both rods hecame magnels and were tsed to attract similar pins,
¢) Circle the correct answer below. [1}

Rod Y attracted { less pins than / the same number of pins as / more pins than )
rod X,

Page 2 of 17
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31. Ram shines a torch oh a bafl and 2 shadow is formed on o smooth wall.

/

—

~d

torch ball walt

a8) Ashadow s formed whenlightls by anobject
b}  Draw the shadow of the ball that bs formed on the wall

32. Draw lines to match the thres organ systems to thelr funcions.

, tomn  funets
muscular gives it shape
system @
¢ helps different parts
dmﬂata:y‘ of the body o move |
® takes air into arvd out of the
body
skoletal o transports digested food,
system @ water and oxygen fo all
paits of the body
Page 3 of 17
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23. a) Siate whatdigestionis, M

b}  Aurella wanted to find out if cutting up food info smaller places helps the food 1©
digest completely faster.

The diagram shows her axperimental set-ups, Aand B,

digestive
AT pee TN

| Set-up A Setup B

- Basad on Aurelia’s experiment, compiate the table balow by ticking [v] the 2
correct boxes,

Variables Keep the same Ghmoc
) |emountof dgestvejuice | |
| #) | size of food plece(s)

i) | mass of food

' temperature of digestive
¥} | juice

Based on the resuits of her experiment, Aurefia concluded thet cufing up food
inio emaller pleces helps the food lo digest complelely faster.

¢} What observation wouki show that her concluslon is correct? {1

Page 4 of 17
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34, Animals W, X, Y and Z are classified a9 shown.

yos w
— .
yss no X
| Has scales?
o yee ¥ ¥
Lay ogge? |
no ™ z

a)  Based on the classHication above, describe the charactedstice of animal W, [l

b} Study the pictures shown below, i)
Fill in the blanks with the lotters, W, X, Y or Z, from the diagram shown above.

Page 5 oF 17
2020 PASC SA

www.testpapersfree.com




Quastion 34 continued

The disgram shows Insects M and N.

Insect M

_young adul_
Study the classification chart below.
insecls |
i
| _ ,
3-gtags lile oycle 4-stage iife cycls
] ] [ 1
Aduit with Aduit without || Adult with Adut!_wilhwt
| wings wings wings __wings
N 1 |
P 1Q { R 8

‘Which group, P, Q, Ror 8, do insects M and N helong 107

{) Insect M- Group

(1} insect N - Group __

2020 P4 SC 5A
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86, Jack grew soms seeds of a plant in four pots i hls room,
In euch pot, he placed 3 seeds. The conditions and reaulis ars shown below.

| Condition “Result cbesrved Inoach pot
[ Pot | Soll Ught | Appesrance of the 3seeds ofi Day 6
o e G C G
B wet absent g
| o |m| G G @
RRIER]

8}  Based gniy on the results given, staie the condition that did not affect the
growtths of ihe seeds.

b}  Using the results given, explain your answer in (a).

g)  Jack wanted to find out if the seeds neoded water to grow.

Which 2 pots shoukd he compare to make a condiusion? Explain vour answer.

2020 PASC SA
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36. May relensed a toy car from the top of ramp C, The toy car had a magnet attached to
the front of it, as shown in diagram 1.

toy car

magnet

Diagram 1
May obsarved that the car rofled down raimp C, when it was relsasad,

Then, May placed object T at a fixed point at the bottom of the remp C, as shown In
diagram 2.

toy car

Diagram 2
Diagram 3 shows what happsned when the toy car was released from the top.

™

Diagram 3
The toy cer rolled down but etopped a distance away from eb;ectT ae shown in
diagram 3. _
a) Explain why. ' 12
Page 8 of 17
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Guestion 39 continued

May repeated the experiment using ramp D as shown, She did not use object T,
toy car

{ “3

When May raleased the toy car from the same height, she observed that It did not

move at all.
b} Suggest a possible reason for her observation. i1
¢} Based on the shservation, name onag metorial that remp D could be made of. [
Page 0 of 17
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37. Nis Yan conducted the experiment, shown below, in a dark room. She wanted to find
out how much light is blocked by materials, D, E and F.

grial
‘ fight sensor
* connected to
a datalogger
lighted torch s
o
: position 2

She placed matsrials D, € and F, at position Z, one at the fime. She recorded the
amount of light detecied by the light sensor In the grsph below.

Amount n‘! fight (units)

-

» Materials

D E F

a) Based on the graph, which material, D, E or F, allows no light 1o pass through? [1]

Mrs Yan teaches at a school for the hearing impaired. She designaed a mask that has
-a gpecial part Qi that woutid allow the children to observe her lip movements clearly
and understand what she is saying,

b} Based on fhe information given, which one of the materlals, D, E or F, should [2]
ghe use fo make part Q7

Using infarmation given, explain your answer.,

Page 10 of 17
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a8, Pam s looking at a gift box as shown.

a}  Based on the diagram, describe how Pam [s able fo seée the giit box. i

by  ABC Company installs spoed cameras along roads. The diagram shows spesd
cameras on the fop of lamp posts localed at two points, A and B, along a road.

At each point, the speed tamera takes a plokure of the car passing by. The pletures
halp to calculate how fast the car had travelled from point A o point B. The pictures
will only be claar if the surrountding light Is very bright.

i} During the day, the lamps are switched off. 1)
Name the source of light for the speed cameras.

Page 11 of 17
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Quaestion 38 contintted

One night, the picture taken by the speed camera at point A was not clear while the
picture taken by the spead camena at point B was very dear,

ABC Company found cut that one of the light bulbs of the lamp at point A was not
working.

B Using the information given, explain why the plclure teken by the spsed comera 2]
at point A was not as clear as the one taken by the spesd camera at point B,

39. Matier llke kguids have mass and occupy space.
a)  Siate two other properties of Rquids, [1]
Proparty 1:

Property 2:

b) Lookatthe containers, A, B and C, below. Each can be used to measure
volume of liquid up to 100 em?.

%
100—
I~
A B C
Which container, A, B or C, can acouraiely measurs 78 em®? ' ‘ 1
Explain your answer.

Page 12 of 17
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Guestion 38 continued -

Billy fills = eyringe with sume water as shown in the diagram below, He pushes the
plunger inwards Into the syringe unti he could not push any longer.

¢y  Siate what will happen to the volume of air and water (Increass, decrease or 2]
remain the same) in the syringe after Billy pushes the plunger inwards.

l}voimofain

it} volume of waler:

Page 13 of 17
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40. Ms Tan uses a siow cooker shown in the diagram below.

it takes 2 long period 1o cook food without needing anyone fo monftor. The siow codker takes
a long Ume o reach the temperature fhat is neaded o cook the food.

"The fid of the glow oooker fits the pot perfestly 1o snsure that the hot alr does not escape

from the pot,

. pot

== rublser handie

A heating slemant, shown below, is found at the base of the slow cooker.

1t is made of metal.

The heating slement heats up the pot of the slow sooker. The dial controls the

temperature of the heating slement.
The table shows the tims taken to cook fhe chicken at different femperaiures.
Temporature set to cook the Time faken to cook the
"~ chicken {°C) : chicken {h)
85 2
50 4

a)  How does the temparature set affect the amount of hest given off by the

heating alement in the slow cooker?

i

Page 14 of 17

2020 P4 SC SA

www.testpapersfree.com

BP-776



BP~777

Qeestion 40 continued

b}  The potis made of ceramic. ¥
Explain why a ceramic pot Is mons suitable for cooking than a metal pot,

One day, Ms Tan could not find e glass lid of the sfow cooker. So, she used a metal
iid that she could find,

The diagram shows the metal iid that Ms Tan used.

When Ms Tan returmad from work that day, she realised that the food was not fully
cooked. Har mother sakd that it was because of the metal iid she used.

e) Howdid the metal lid cause the food to be not fidly cooked? m

Page 150f 12
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41, Busan pours hot waler of the same temperaturg into four similar tubes, The amount
of hot water in éach whe s different as shown below,

4 " » F -+ , '

hot water —~——f-
40 mi 20 ml 30 mi 40 ml

The weater in each ube cools down, Susan measures and records down the
wompoerature of water in each tube at the end of the expariment.

The graph shows her resulls,

tempershure

a) Whish line{A, B, € or D} shows the results for the tube with 40.mi of hot water?  [1]
Explain your answer,

‘Tive diagram shows a cooler bag. A coolar bag Is used o kesp drinks cold fora
jengsr ttime,

Page 16 of 17
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Question 41 continusd

A place of foam, shown below, is used In befween the innar and outer layers of the
bag. The plecs of foam conslats of meny finy holes.

holes

b} Explain howthe foam help in keeping the drinka cok for 2 longer fime, {2}

Kate bought a container of hot soup and a can of cold drink and placed them in the
cooler bag,

When she reached her offics, after 20 minutes, her contaliner of hot soup had cocled
down and the can of drink was no longer cold.

¢) Whaet could havs caused the hot soup to cuol down and the can of drink to be 1]
riot a8 cold as when she bought it?

End of Booklet B
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SECTIONB
Q29) a) Adult
b} Cockroach
Q30) a) Non-magnetic
b} Repelling
¢) More pins than
Q31) a) Blocked
’ .
Q32) | Muscular system — helps different parts of the body to move
Circulatory system — transports digested food, water and oxygen fo
all parts of the body
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Skeletal system -- supports our body and gives it shape

Q33} a) Digestion is the breaking down of food into simpler
substances.
b) )Keep the same
if)Change
ii)Keep the same
iv)Keep the same
c) Aftera certain time, there will be no food pieces in set-up B
but there will still be food pieces in set-up A
Q34) a) Ani_mal W has scales and lays eggs.
b} i)Animal w
iiJAnimal z
c) HQ
d) iR
Q35) | a)The amount of light given
b)The seeds in pot B could grow through in the dark
¢) Cand D as both of the seeds have light, and the only changed
variable is the soil which C is dry and D is wet.
| Q36) “| = a) As objectT is also a magnet. The like poles of the magnets
are facing each other, causing them to repel. Therefore the toy
car stopped at a distance away from object T.
b) As ramp D is magnetic, so the magnet attracted the rafnp and |
s0 the toy car cannot move.
¢) lron
1 Q37) a D
- b) E as it allows most light to pass through, and reflect off her
lips movements clearly and undersﬁnd what she is saying.
[Q38) a) The lamp shines the light onto the gift box, and the gift buy
B reflects the light into Pam’s eyes.
b) i)The Sun. i
‘ i)There was tesser light reflected off she car into the caméré.
| Q39) a) Have no definite shape

Have a definite volume
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b} C as C has more marking lines that we can count while the A
and B do not have those links.

¢} i) decrease
if)Remain the same.

Q40)

a) The lower the temperature, the lesser the amount of heat
given,

b} Ceramic is a poorer conductor of heat so the pot will conduct
heat from the heating cement to the food more slowly.

c) As all the heat in the ceramic pot will be conducted away by
the metal lid, so the rice will not have much heat left to be

cooked.

Q41)

a) A as A has 40mi of hot water has the most amount of heat and
so it takes the longest time to lose heat.

b) The air in the holes inside the foam is a poor conductor of
heat and so it will reduce heat gain from the surrouonding air
to the cold drink.

c) The cold drink gains heat from the hot soup.
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